- 000°000'0ST | 000°000°0ST = 000°000°0GT | 000‘000°0ST Eom{x¥i

- 000°000°0ST | 000°000°0ST - 000°000°0ST | 000°000°0ST Ylx2&lafzla®)

- ¥2h'808'8 vZy°'808'8 - 612°L01°8 612°L0T°8 bBI=v

= vZ7'808'8 ¥Zv'808'8 = 612°L01'8 612°L01°8 (9w Y &(€)

- (€09'121'81) | (€09'TZ1'8T) |- (zev'629'v2) | (2€V'629°72) ol =riz &z

- 660'252'G2 660'252°G¢ - 617 ¥20'¥E 617'720'VE =lr

- 967'01°L 96%'0ET"L - L86'V6E'6 L86'V6E'6 (SZE ) rixeesi(2)

- G65'29£°Z9 $65°29¢'29 = VAR ZANAS SL1'VZL'Z9 VZEv)Eslyslck

- G65'29¢°29 G65°29€°29 - SLT'VZL'Z9 VAR AN Ty ly=(1)

- GI1G'10€°'822 | G1S'10£'822 | - 18€'922'0€Z | 18£'922'0£2 FxE&lan

- 00S' LY 00S VLY = 026°LZ¢ 026'L2¢ ERlisRvin

- 1€0'8LY'GYSC | TE0'8LY'SPS'T | - 1L8°ZVE TRL T | TL8'ZHE THL T (TR HXEERGEER

= 1€9°256°G¥S'Z | 1€5'256'SYS°T | - 164'0L9'TVL' T | T6L'0LY'THL'T Frxte (1)

- 1€6'256'GYS'C | 1€5'266'SVS°C | - 164'0L9'TVLT | T64°0L9'THL'T Fly281
1¥iy

Blvhlc plvlEhe £F Blvhlc BlvivEios BE L
lc (RET I lc @I I ' T
[ cre), Thavs bRy

lvid BIE BZI B610Z lc €1 |y
lvtd BIE BZ1 0202 |z ¥1 lx

FEhB&al




=
&,

90 VST YLL'C

9Y0'¥SCVLL'C

CLT'L68'TLE'T

CLT'LBB'TLE'T

119°829°909°C

119'829'909°C

70L'GTEV08'T

70L'GTEF08'T

G65'29¢'Z1

G65°29€°C1

SLT'VTL'CT

QLI'VTL'CT

G659°29e'C1

G6G'29¢€°C1

SLI'VZL'CT

VAR ZANA

910°992'%%5°C

910'992'%¥5°¢C

625 T6G° TPL'T

625° 165 VLT

910°992'%¥5°C

910'99Z'¥¥S'C

625°T6S TVL'T

629 16G° VLT

000°000°05 000°000°0S - 000°000°0§ 000°000'0S (6'8 e Hvly=le
000'000°0S 000°000°05 - 000°000°0S 000°000°0S x==lc 1
{rix<
GEV'GZ9'L9T GEV'G29°'L91 - 89%'18G°L9T 89%'18G°L91 e lxs
ZE0'PVI'E AN OR AN - - - Cr>)elrTRlviyse ™ I
81L'PHS 0ET 81L'PYS 0ET - 996'VLE'SYT | 996'VLEGYT (LIrvilyaaShElkE
81L'¥¥S'0€ET 81L'¥¥S'0€T = 996'VLE'SVT 996 7LE'SYT lxe=olr 1
0b¥°0€0°62 0F¥'0€0°GZ = 08%°'0E7'91 08%°'0£¥°91 =l
$%2'906°8 S¥2°906°8 - 220'9LL'S 220'9LL'S £2x(o
G89'9€6'EE G89'9E6°EE - 205'902°22 20590222 bxye206'1
Ny
0 VST VLL'Z | VO'VSTVLL'T | - CLU'LBS'TLB'T | ZLI'LBY'TLE T ey

olrfale

Blvxs®

[e]
7Yy

Bivhalc

Yl ELBE

A O
123

le (B)ET lx

le (&)¥T L




